UCLA CS111
Operating Systems (Spring 2003, Section 1)

Homework 2 (Due 4/14/2003)

Instructor  


Andy Wang (awang@cs.ucla.edu)  


Office:  3732J Boelter Hall


Office Hours:  M1-3, W1-2, Th2-3, and by appointment

________________________________________________________________________

1. Why doesn’t BIOS load the entire operating system directly (as opposed to going through an intermediary operating system loader)? (1pt)

2. Why do UNIX operating systems use the cloning approach to create a new process (as opposed to creating a process when executing a program)? (1pt)

3.  Write a short C program and turn in the source code and output printouts.  

a. Write a short C program that creates two processes.  Each process should contain a loop that repeatedly writes a message to a test file, one character at a time.  Do you see garbled messages in the file?  Why or why not? (1pt)

b. Add “#include <unistd.h>” to your program, and use the usleep(1) and fflush(<file descriptor>) call to improve the chance of seeing the garbled file content.  (1pt)

c. Can you use a lock file to coordinate these two processes so the test file no longer contains garbled messages.  Why or why not?  State your assumptions.  (1pt)

4. For each scheduling strategy mentioned in class, find creative/funny examples in life, where the scheduling strategy works and fails.  (5pts)






































































